30558138

£ BB & (788)
AfRLUF 2S5 —DEB (16%)
NIE i K 2 OUT | IN |GROSS|HDCP| NET
1 NBE HB=E 39 39 78 8 70
2 =7 N =1::! 39 37 76 4 72
3 XE = 38 43 81 9 72
4 o e 48 41 89 13 76
5 kix RSB 43 43 86 8 78
BG =7 N =1::! 39 37 76
Bkl F+ 215 —DE0 (42%)
NIEfiz K 2 OUT | IN |[GROSS|HDCP| NET
1 = —Bf 45 47 92 27 65
2 S % 44 46 90 23 o6r
3 i SAfE 45 45 90 19 71
4 BF Ro 47 50 o7 26 71
5 HE 1E@ 48 51 99 27 72
BG BiE 3AE 45 45 90
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TSVEIZP « LT 1 —ADEB (208)
NIE{iz K =4 OUT | IN |GROSS|HDCP| NET
1 Al XE 42 38 80 9 71
2 BE FR8 39 43 82 10 72
3 ) BF5 53 43 96 24 72
4 i E 44 43 87 13 74
5 = 3R 43 50 93 18 75
BG Al X2 42 38 80
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